8 ! 5 4 ?
THIS DRAWING IS UNPUBLISHED. ‘ RELEASAELDLF:‘RG:TU:LR\ECSAETR\;)END 20 FEED F‘NGER SET UP GAGE LOC DIST RE\/‘S‘ONS
@ copy;eAHTRon BY TYCO ELECTRONICS CORPORATION. PROGRAMMED ‘ 90 ‘ 694’ ‘ ‘ 90 ‘ 067’ ‘ A 66 5 R SESCRTPTION SATE 5 APVE
NUMBER REV DESCRIPTION MEMORY CHIP A RELEASED 08APR2008 | RD | GB
1911214~ A CUTS CARRIER -1911214-1|
191 1214-6 A CONTINUOQUS CARRIER 8-1911214-6
T-1911214-] A -1 AND SPARE PARTS 9-191 1214~
[-1911214-6 A -6 AND SPARE PARTS 9-1911214-06
T-1911214-7 A SPARE PARTS KIT -
APPLICATOR DATA
CRIMP SI1/E TYPE
WIRE | . 22mm [ . 048] F
INSUL| 2.03mm [.080] F
APPL INSTRUCTIONS
408-10135 M!
TERMINAL DATA: TE TERMINAL TYCO ELECTRONICS CRIMP SPEC
TERMINAL NAME: MINI UNIV MATE-N-LOK PIN CONTACT
WIRE STRIP LENGTH — INSULATION DIAMETER RANGE
3.0-4.0 mm [.125-.157 IN] L 20-1.75mm [.047-.068 IN]
TERMINAL [14-5050 (A) 14-1111 (C)
appL spec 14-16017 (B)
TERMINALS APPLIED
[ 70359-1 (A) 1 70359-2 (A) 1 70359-3 (A) 1 70359-4 (A)
[-170359-2 (A) [-170359-3 (A) [ 70361-1 (A) [ 70361-2 (A)
170361-3 (A) 170361-4 (A) 170361-5 (A) 170361-6 (A)
[-170361-3 (A) 7709011 (B) 770901-2 (B) 770901-3 (B)
|-770901-0 (B) 7194218-1 (C) 7194218-2 (C) 7194218-3 (C)
-794218-0 (C) 770902-1 (B) 770902-2 (B) 770902-3 (B)
7170902-4 (B) 7170902-5 (B) 770902-6 (B) |-770902-0 (B)
|-770902-1 (B) 7194219-1 (C) 7194219-2 (C) 7194219-3 (C)
[-794219-0 (C) - - -
WIRE L CRIMP HE IGHT (&
® = 3
SI/ZE r mmC INCH] -1 | | | 1-993111-6 |PIN, SLOTTED SPRING 3.0 X 30.0 77
22AWG or 0.34mm? I8+F.05 - 1.0314.002] - ? ? ? ? 3-22280-17 SPRING, COMPRESSION | 16
24ANG or 0.22mm? 69405 [.0274.002] N I R I 1752353-1  |GUIDE PIN. HOLDDOWN 75
26ANG or 0. |4mm? 634,05 [.0254.002] ] N T I I 1901680-1  |GUIDE PIN, HOLDDOWN 74
- |REF|REF|REF|REF SEE TABLE MEMORY CHIP .  PROGRAMMED | 35
- \ \ \ \ 455888 - | SPACER, CRIMPER 87
- \ \ \ \ 16335651 DOCUMENTATION PACKAGE |
- \ \ \ \ 1901048 - | TAG, IDENTIFICATION 167
] - ? ? ? ? 2101 7-1 SCREW, DRIVE 66
- \ \ \ \ 18028~ | WASHER, FLAT, REG M3 o 4
- \ \ \ \ 1655785-9 SCR, BTN SKT HD CAP (M3 X 6) 167
- ? ? ? ? 1655785~ SCR, BTN SKT HD CAP (M4 X 8) 160
- 4 4 4 4 |6557183-3 SCR, CAP, SOC HD, LOW HEAD, M4 X 12 ] 54
- \ \ \ \ | -18030-0 NUT, HEX, REG M3.5 57
- \ \ \ \ 1901681 - | HOLDDOWN, TERMINAL 15
- \ \ \ \ | -1752354-4 [ STANDOFF,HOLD-DOWN 150
- \ \ \ \ | 752300- | SEF SYSTEM 1| APPLICATOR |46
- \ \ \ \ | 152308~ | RAM |44
- \ \ \ \ 2-1655785-3 |SCR, BTN SKT HD CAP (M& X 25) |4
- \ \ \ \ 993002-14 SCREW,SET,SFT TIP 40
- \ \ \ \ 19620432 | PLUNGER,BALL ,METRIC 139
- \ \ \ \ | 152309-| RING, INSULATION CRIMP 138
- \ \ \ \ | 152356~ SUPPORT, TERMINAL 34
- ? ? ? ? 3-1655785-3 |SCR, BTN SKT HD CAP (M4 X 20) 33
LLD) /N RECOMMENDED SPARE PARTS. N T I I 18028-3  |WASHER, FLAT, REG M5 137
- \ \ \ \ 5-1655316-3 |SCR, SKT HD CAP, M5 X [0.0 13
/2\ GREASE BEARING SURFACES LIGHTLY. — T =30908-7 TSPACER STRIP GUTDE =0
3. LUBRICATE DAILY PER THE APPLICATOR INSTRUCTION S L ) AL 1901087-1  JASSEMBLY, STRIP GUIDE 29
SHEET SUPPLIED WITH THE APPLICATOR. Pyt PP b 1245586820 (SPACER, CRIWPER c&
- \ \ \ \ | 320928 - | PLATE, STRIP GUIDE 24
/AN ITEM 19 - OPTIONAL STRIPPER FOR BENCH N T I I 1976045-1 |STRIPPER 127
MACHINE APPLICATIONS. N I I R B 180287 WASHER, FLAT, REG M4 120
/5\ APPLICATOR SPECIFIC DATA TO BE ENTERED INTO A _ [REF IREF IREF IREF ;g;&w QEA?E&DER —— 2
— BLANK MEMORY CHIP AT ASSEMBLY. :
- \ \ \ \ 3-22280-3 SPRING, COMPRESSION | 7
/6N APPLY P/N 1-23419-5 LOCTITE(R) TO THREADS. A T R R B 356885-4 | STOP. SHEAR N
/I\ WHEN CRIMPING TIN COATED 26 AWG WIRE. CRIMP HEIGHT AV 5c09c1-1  |oAbAR HOLDER, TRONT, COT 0
’ - \ \ \ \ 462006 - | FLOATING SHEAR, FRONT 9
TOLERANCE WILL BE STATED IN RELEVANT APPLICATION SPEC. éi — T T 333225°9 |ANVIL CONBINATTON 3
REF - i i
16,30 o Ao O f S s 2
29 )REF AT FRONT HOLES [3.1840.5] RETAINING PIN ,
REF REF g LOCAT | ON JN_ L[ 2 ]2 1 [ 1 [ 9-456134-4 [CRIMPER, INSULATION F PREMIUM 3
i N - \ \ \ \ 455888-4 SPACER, CRIMPER %
e REF [0) _ 59 AN 2le 1 [ 568176-6  |CRIMPER, WIRE |
. ! — [15.01] “770-76|-71] -6 | -1 | PART NO DESCRIPTION I
~ —o NO
] [N\ R R o acoq | CMARZ008 = Tyco Electronics
J | J H J E CHF?.DOBSON | 8MAR2008 Tyco Electronics Harrisburg, PA 17105-3608
B DIMENSTONS: OTTHOELREWR\ASNEC ESSP EUCN\LFE\SESD: APVD [8MAR2008 |nameE
*— | ] INCHES [mm] N.DEMING SIDE FEED SYSTEM 11 APPLICATOR
J 0 PLC 4 PRODUCT SPEC )
| PLC +-
- E 2 PLC +- -
{gig} 3 PLC - APPLICATION SPEC
TERM ‘ NAL SUPPORT iNgtES +- . SEE TABLE SIZE | CAGE CODE |DRAWING NO RESTRICTED TO
FEED TRACK POS ‘ T‘ON LOCAT\ON HOLDDOWN SET’UP MATER AL FINISH WEIGHT A ‘ 00779 @:‘9‘ 1714 _
CUSTOMER DRAWING SCALE g g | SHEET oF A

AMP 4805 REV 3IMAR2000

Pro/ENGINEER DRAWING




Mouser Electronics

Authorized Distributor

Click to View Pricing, Inventory, Delivery & Lifecycle Information:

TE Connectivity:
1911214-6



http://www.mouser.com/TE-Connectivity
http://www.mouser.com/access/?pn=1911214-6

